’

iwata

BAHTER CADY O vO— R-JY IO THEK BSRVEDLEE Th—LR—IH 5 |

www.iwata-fa.jp

s BT Onr e L e 550

TINU—MBEICKD. Y+ T hEEDIF D LB HDMITHTEET,
Vv 7 MEHMITEROID I RO A LBEEICTEXT,
JVIND MO A XZHICITEMS A VT v T

o o
> ’/, »> /
SEHOOA— kA y X BER= v A v F =
=Y ;
x *

508820150 \

“:ﬂ’ 010106

G
=

il\,’ /fr

IV AL Ay F

>
o g &
RERD SUS304 73
MERES & FRENIE T AN
C $% S45C B4 RETFRIVS (Beo)2
© : AR (RifD) 2
U | %% S45C/ =ffivax—tAy¥x | RARMRILN(SUSXMT) 274 SCSS 0308
M $ S45C EEBR—y/ I AvE | RANMRILE(SUSXM7) 24
N |8 S45C =vsLoObxy® | ABIRAFAILN(SUSXM7) 2K PIEE3mm. E8mm. R
sl 27> L X SUS304 RANFFARILN(SUSXM7) 274
A 7IVI A2017 RANTARILN(SUSXM7) 274
BT : mm
|
- i x
o
18 1T
S
] >
ES @BIERE
@B N
+0.03
?3~6 | 1007
+0.05
L/2 ®8~45 | 1507
L*01 o50~120| $ 909
fifi4& (F9)
AR | 18 | SR it x> eSS = SR | =
W | X |Y o 3 =i | ESE (=T
¢B | L | D M [:#Exe 249 A= ok | 2ok | 0k 5% SUS304 | A2017
S| A
3] 8| 15| 1 | 45| 3| M3x8 SCSS 0308 ] 600 — 680 — 850 | 500
4 | 8| 15[ 1 | 45| 3] mM3x8 SCSS 0408[] 640 — 700/ 700 | 1,000 570
6| 16/1 | 5 3|M2.6x6| SCSS 0506[] 720 — 840| — 1,200 —
5| 8] 201 | 55| 4|M3x10| SCSS0508[] 660 — 740| 740 | 1,080 630
10| 20| 1 | 6 4| M4ax10| SCSS 0510 660 — 740 — 1,080 —
6| 18/1 | 6 3|M2.6x6| SCSS 0606 760 — 840 — 1,300 —
6 | 8/ 20/1 | 6 4| M3x10| SCSS 0608[] 700 — 740| 740 | 1,180 650
10| 201 | 6 4| M4ax10| SCSS 0610] 700 — 740 — 1,180 —
6| 22|15 7 3|M2.6x8| SCSS 0806[] 800| — 920 — 1,300 | —
8| 25|/15]| 8 5| M3x10| SCSS 0808[] 730 800 820| 820 | 1,200 650
8 10| 25[/15]| 8 5| M4ax12| SCSS 0810 730 — 820 — 1,200 —
12| 28[15| 85| 5|M5%x16| SCSS0812[] 730 — 820 — 1,200 —
15| 30[15] 9 5| M6x15| SCSS 0815] 730 — 820 — 1,200 —

[fESTVN 271

2% JUR
»P.57

2RI
»P.73

DAY b RUR | F—i&

»P.44 »P.56 »P.95 »P.109 »P

SRR

112




»P.734 vp7ea CEIED »r.784 43

fili& (M)
AE | 1R | 4E fEfTx mE = a7 | — .

B | L |eD|WI X |Y | ™ O:HERS 280 |, X‘_Tﬁx‘y% f,ff; ;Di?y’; SUS304 | A2017

u M N s Al

6| 25/15| 8 | 3|M26x8| SCSS 1006[] 840 — | 1,050] — | 1,400 —

1o 101 301157 9 | 5 maxi2| sCSS 1010 780 1,030 | 1,050 | 1,050 | 1,300 700

12| 30|15| 9 | 5|M5x16| SCSS 1012[] 780] — | 1,050] — | 1,300 —

15| 35/15/10 | 6|M6x18| SCSS 1015[] 780| — | 1,050 — | 1,300 —

6| 25/15| 9 | 3|M26x8| SCSS1206[] 840] — | 1,050] — | 1,400 —

1, [ 101 30[15[10 | 5 maxi2| SCSS1210] 780 1,030 | 1,050 | 1,050 | 1,300 700

12| 30|15/10 | 5|M5x16| SCSS 1212[] 780| — | 1,050 — | 1,300 —

15| 35|1.5|11 | 6|M6x18| SCSS 1215[] 780] — | 1,050 — | 1,300 —

10| 30|1.5/10 | 5|M4x12| SCSS 12.7-10[] 780] — | 1,050] — | 1,300 —

127 [12] 30]1.5]10 | 5|M5x16| SCSS12.7-12] 780| — | 1,050 — | 1,300 —

15] 35|15/11 | 6| M6x18| SCSS 12.7-150] 780] — | 1,050] — | 1,300 —

8| 28[1.5|11 | 3| M3x8 | SCSS 1308 780] — | 1,050 — | 1,300 —

13 [10] 30[15[10 | 5|M4x12| SCSS 13100] 780 | 1,030 | 1,050 | 1,050 | 1,300| 700

15| 35|1.5|11 | 6|M6x18| SCSS 1315 780 — | 1,050] — | 1,300 -—

8| 30[1.5(11 | 3| M3x8 | SCSS 1508[] 800| — | 1,050, — | 1,350 -—

15 |10/ 82/15/11 | 6|Maxi2| SCSS1510] 800 | 1,030 | 1,050 | 1,050 | 1,350 | 700

12| 35]15]12 | 6|M5x16| SCSS 1512[] 800 — | 1,050] — | 1,350 —

15| 40|15]13 | 8|M6x20| SCSS 1515 800| — | 1,050] — | 1,350 —

8| 30[1.5[115] 3| M3x8 | SCSS 1608[] 850 — | 1,050 — | 1,400 —

16 |10/ 35/15/12 | 6|maxi2| SCSS1610] 850 | 1,030 | 1,050 1,050 | 1,400 700

12| 35|15/12 | 6|M5x16| SCSS 1612[] 850 — | 1,050] — | 1,400 —

15| 40|15|13 | 8|M6x20| SCSS 16150] 850 — | 1,050 — | 1,400 —

17 |15] 40|15[13 | 8|M6x20| SCSS 1715[] 900 — | 1,250] — | 1,650] —

18 | 15| 45|15|15 | 8| M6x20| SCSS 1815[] 1,000 — | 1,250 — | 1,850 —

8| 35]/1.5(13 | 5|M3x10| SCSS 2008] 1,000 — | 1,250] — | 1,850 —

jo 10| 40[15[14 | 7[M4x16| SCSS2010] 1,000 | 1,200 | 1,250 | 1,250 | 1,850| 930

12| 40|15/14 | 7|M5x16| SCSS 2012[] 1,000 — | 1,250] — | 1,850] —

15| 45|15/15 | 8|M6x20| SCSS 2015[] 1,000 — | 1,250 — | 1,850 —

10| 42[1.5]165] 5| M4x12| SCSS 2510[] 1,00 — | 1,400, — | 2000 —

25 (12| 45|1.5(17 | 7|M5x16| SCSS 2512[] 1,050 | 1,350 | 1,400 | 1,400 | 2,000 | 1,080

15| 50]1.5]18 | 10| M6x25| SCSS 2515] 1,060 — | 1,400, — | 2000 —

bl 12| 45(15/17 | 7|M5x16| SCSS264-120] | 1,300 — | 1,700 — | 2500 —

“4[15] 50]1.5[18 | 10| M6x25| SCSS254-150] | 1,300] — | 1,700] — | 2,500 —

28 |15| 55|1.5]20 | 10| M6x25| SCSS 2815[] 1,300, — | 1,700] — | 2,500| —

s |12 50[15[20 | 6[Msxi6| SCSS3012L] 1,300 — | 1,700] — | 2,500 —

15| 55/1.5/20 | 10| M6x25| SCSS 3015[] 1,300 | 1,600 | 1,700 | 1,700 | 2,500 1,580

32 |15] 60]2 |23 | 12| M6x25| SCSS 3215] 1,380 — | 1,850 — | 2,800 —

45 L12] 85/2 |225] 6|M5x16| SCSS 3512 1,380 — | 1,850 — | 2,800 —

15| 60|2 |23 | 12| M6x25| SCSS 3515[] 1,380 | 1,700 | 1,850 | 1,850 | 2,800 | 1,700

38 [18| 70|2 |26 | 13| M8x30| SCSS 3818[] 1,700] — | 2,300] — | 3,600 —

40 |12] 60[2 [25 | 7[M5x16] SCSS4012(] 1,700 — | 2,300 — | 3600 —

18| 70|2 |26 | 13| M8x30| SCSS 4018[] 1,700 | 2,100 | 2,300 | 2,300 | 3,600 | 1,850

4 |12] 652 |28 | 7[M5x16| SCSS45120] 2,000 — | 2500] — | 4,000 —

18| 75|3 |28 | 14| M8x30| SCSS 45180 2,000 — | 2,500| — | 4,000 —

15| 75|3 |305| 12| M6x25| SCSS 5015[] 2,050 — | 2,950 — | 4800 —

50 |18] 80|3 |32 | 13| M8x30| SCSS 5018[] 2,050 — | 2,950 — | 4,800 —

22| 85|3 |32 | 16 |M10x35] SCSS 5022[] 2,050] — | 2,950 — | 4,800 2,200

55 |22| 90|3 |34 | 18 M10x35] SCSS 5522[] 2,400] — | 3,600 — | 6800 —

60 | 22| 95|3 |37 | 18 [M10x35] SCSS 6022[] 2450 — | 3,800] — | 8,000 —

65 |25/105|5 |40 | 18 M12x40| SCSS 6525 3400 — | 5200] — |10,500| -

70 |25/110|5 |43 | 18|M12x40] SCSS 7025 3900] — | 6,000] — |11,500| —

75 |25|115|5 |45 | 20 \M12x40| SCSS 7525 4200 — | 6200] — |12,500] -

80 |32]130|5 |50 | 22 [M16x50] SCSS 8032[] 2,400] — |10,000] — |18000] -—

85 |32|135|5 |525 23 M16x50] SCSS 8532 580| — |11,000 — |19,500| —

90 |32]140|5 |55 | 24 |M16x50] SCSS 9032[] 6000 — | — | — | - -

100 136|150 |5 |60 | 26 |M16x50 SCSS 10036L] 6800 — | — - - -

110 |36]170|5 |70 | 28 |M16x50 SCSS 11036[] 11,000] - - - - -
120 |36/180|5 |75 | 30 [M16x50 SCSS 12036[] | 12,000 - - - - - ’

AE P65 EIEFO TP WlIBARIVNERH, g

iwata



